

Al-Rafidain Journal of Computer Sciences and Mathematics (RJCM)



First and Second Zagreb Coindices for Chains of Cycles

www.csmj.mosuljournals.com

Ammar Raad Waadallah,* Ahmed Mohammed Ali

College of Computer Science and Mathematics University of Mosul Mosul, Iraq *Corresponding author. Email: ammar.20csp94@student.uomosul.edu.iq

Article information	Abstract
Article history: Received : 22/9/2022 Accepted : 7/11/2022 Available online :	Abstract—The graphs which are used in this paper are simple, finite and undirected. The first and second Zagreb indices for every non-adjacent vertices (also called first and second Zagreb coindices) are dependent only on the non-adjacent vertices degrees which interspersed the operations of addition and multiplication, respectively, for the degrees of non-adjacent vertices. The number of the edges incident on vertex v in a graph G is called the degree of a vertex v and the two vertices u and v are non-adjacent if it's no common edge between them. In this paper, we found the first and second Zagreb coindices of chains of even cycles and also, gave some examples.

Keywords:

First Zagreb coindex, Second Zagreb conidex, Identical, Even cycle.

Correspondence:

Author : Ammar Raad Waadallah

Email: ammar.20csp94@student.uomosul.edu.iq

I. INTRODUCTION

The simple graph G is consist of pairs order of nonempty finite set is called set vertex V and a finite set of unordered pairs of distinct elements of vertex set is called set edge E and denoted by G = (V, E). The number of elements the set vertex and set edge are called the order and the size of a graph G respectively which denoted by p = p(G) and q = q(G) respectively. The degree of vertex v in a graph G is the number of edges incident with vertex v denoted by $deg_G(v)$. The cycle in a graph G is alternate sequence of vertices and edges $u_1, e_1, u_2, e_2, \dots, u_h, e_h, u_1$ such that $u_i \neq u_j$ for all $1 \leq i, j \leq h, h \geq 3$, the cycle graph is a graph contain only a cycle, denoted to the cycle graph of order p by C_p . It is clear that every vertex of C_p has two degree and we say that the cycle graph is even if $p = 2m, m \in N - \{1\}$ $(q = 2m, m \in N - \{1\})$. For a lot of concepts in statement theory, see the references [1,2].

An invariant of any connected graph is the number related to graphs. The topological indices are one of invariant

important in knowing many chemical and physical properties, one of the oldest invariants of graph is Zagreb indices (first and second) which introduced by Gutman and Trinajstić in 1972, [3]. In 2008, [4], Dŏslíc find the complement of first and second Zagreb indices which is called first and second Zagreb coindices. There are many researchers who have an interest in finding first and second Zagreb indices for a lot of graphs, such as: [5-9]. Also, there are many topological indices that are interested in many researchers such as: omega, degree deviation and Wiener indices [10-13].

In this paper, we found the first and second Zagreb coindices of special types of chains graphs "chains for identical of n –even cycles", the complement of first Zagreb index and the second of Zagreb index are defined respectively by:

and

$$Z_1^{\circ}(G) = \sum_{vu \notin E} [deg_G v + deg_G u],$$

$$Z_2^{\circ}(G) = \sum_{vu \notin E} [deg_G v \times deg_G u]$$

II. The first and second Zagreb coindices for chains of n –even cycles:

In this section, we take two types of chains for identical of n – even cycle as the following:

Type 1: A chain of n – even cycles C_{2m} , $n, m \ge 2$ by identical symmetric vertices $I_V(CC_{2m})$, see Fig 1.1.



FIGURE 1.1. The graph $I_V(CC_{2m})$

Type 2: A chain of n – even cycles C_{2m} , $n, m \ge 2$ by introduced path P_r , $r \ge 2$, for symmetric vertices $I_P(CC_{2m})$, see Fig1.2.



Now, we find general formula of the complement of first and second Zagreb indices for both types of chains.

Theorem 2.1.1: For all $n, m \ge 2$, then: **1.** $Z_1^{\circ}(I_V(CC_{2m}^n)) = Z_1^{\circ}(I_V(CC_{2m}^{n-1})) + 8nm(2m-1)$ $-4(2m^2 + m + 2).$ **2.** $Z_2^{\circ}(I_V(CC_{2m}^n)) = Z_2^{\circ}(I_V(CC_{2m}^{n-1})) + 16nm^2$ $-4(2m^2 + 3m + 5).$

Proof:

We add an even cycle C_{2m} to the chain $I_V(CC_{2m}^{n-1})$ by identical the vertex u_1^n in C_{2m}^n with the vertex u_{m+1}^{n-1} in $I_V(CC_{2m}^{n-1})$, we obtain:

$$1. Z_{1}^{c}(I_{V}(CC_{2m}^{n})) = Z_{1}^{c}(I_{V}(CC_{2m}^{n-1})) + D_{I_{V}(CC_{2m}^{n})}^{+}(2,2) + D_{I_{V}(CC_{2m}^{n})}^{+}(2,4) + D_{I_{V}(CC_{2m}^{n})}^{+}(4,4) - D_{I_{V}(CC_{2m}^{n-1},u_{m+1}^{n-1})}^{+}(2,2) - D_{I_{V}(CC_{2m}^{n-1},u_{m+1}^{n-1})}^{+}(2,4).$$

$$\begin{split} & D_{I_V(CC_{2m}^n)}^+(2,2) \\ &= \sum_{i=2}^{2m-2} \sum_{j=i+2}^{jm} \left[deg_{I_V(CC_{2m}^n)} u_i^{(n)} + deg_{I_V(CC_{2m}^n)} u_j^{(n)} \right] \\ &+ \sum_{i=2}^{2m} \sum_{j=1}^{n-1} \sum_{h=2}^{m} \left[deg_{I_V(CC_{2m}^n)} u_i^{(n)} + deg_{I_V(CC_{2m}^n)} u_h^{(j)} \right] \\ &+ \sum_{i=2}^{2m} \sum_{j=1}^{n-1} \sum_{h=m+2}^{2m} \left[deg_{I_V(CC_{2m}^n)} u_i^{(n)} + deg_{I_V(CC_{2m}^n)} u_h^{(j)} \right] \\ &+ \sum_{i=2}^{2m} \left[deg_{I_V(CC_{2m}^n)} u_i^{(n)} + deg_{I_V(CC_{2m}^n)} u_1^{(1)} \right] \\ &= 16nm^2 - 24nm - 8m^2 + 12m + 8n \,. \end{split}$$

$$\begin{split} D^{+}_{I_{V}(CC_{2m}^{n})}(2,4) \\ &= \sum_{i=2}^{2m} \sum_{j=2}^{n-1} \left[deg_{I_{V}(CC_{2m}^{n})} u_{i}^{(n)} + deg_{I_{V}(CC_{2m}^{n})} u_{1}^{(j)} \right] \\ &+ \sum_{i=3}^{2m-1} \left[deg_{I_{V}(CC_{2m}^{n})} u_{i}^{(n)} + deg_{I_{V}(CC_{2m}^{n})} u_{1}^{(n)} \right] \\ &+ \sum_{i=2}^{m-1} \left[deg_{I_{V}(CC_{2m}^{n})} u_{i}^{(n-1)} + deg_{I_{V}(CC_{2m}^{n})} u_{m+1}^{(n-1)} \right] \\ &+ \sum_{i=3}^{m} \left[deg_{I_{V}(CC_{2m}^{n})} u_{m+i}^{(n-1)} + deg_{I_{V}(CC_{2m}^{n})} u_{m+1}^{(n-1)} \right] \\ &+ \sum_{i=2}^{n-2} \sum_{i=2}^{m} \left[deg_{I_{V}(CC_{2m}^{n})} u_{i}^{(j)} + deg_{I_{V}(CC_{2m}^{n})} u_{m+1}^{(n-1)} \right] \\ &+ \sum_{j=1}^{n-2} \sum_{i=2}^{m} \left[deg_{I_{V}(CC_{2m}^{n})} u_{m+i}^{(j)} + deg_{I_{V}(CC_{2m}^{n})} u_{m+1}^{(n-1)} \right] \\ &+ \left[deg_{I_{V}(CC_{2m}^{n})} u_{1}^{(1)} + deg_{I_{V}(CC_{2m}^{n})} u_{m+1}^{(n-1)} \right] \\ &= 24nm - 24m - 18n \,. \end{split}$$

$$D^{+}_{I_{V}(CC_{2m}^{n})}(4,4)$$

= $\sum_{j=2}^{n-1} [deg_{I_{V}(CC_{2m}^{n})}u_{1}^{(n)} + deg_{I_{V}(CC_{2m}^{n})}u_{1}^{(j)}]$
= $8n - 16$

$$\begin{split} & D_{I_{V}(CC_{2m}^{n-1},u_{m+1}^{n-1})}^{T}(2,2) \\ &= \left[deg_{I_{V}(CC_{2m}^{n-1})}u_{1}^{(1)} + deg_{I_{V}(CC_{2m}^{n-1})}u_{m+1}^{(n-1)} \right] \\ &+ \sum_{i=2}^{m-1} \left[deg_{I_{V}(CC_{2m}^{n-1})}u_{i}^{(n-1)} + deg_{I_{V}(CC_{2m}^{n-1})}u_{m+1}^{(n-1)} \right] \\ &+ \sum_{i=3}^{m} \left[deg_{I_{V}(CC_{2m}^{n-1})}u_{m+i}^{(n-1)} + deg_{I_{V}(CC_{2m}^{n-1})}u_{m+1}^{(n-1)} \right] \\ &+ \sum_{j=1}^{n-2} \sum_{i=2}^{m} \left[deg_{I_{V}(CC_{2m}^{n-1})}u_{i}^{(j)} + deg_{I_{V}(CC_{2m}^{n-1})}u_{m+1}^{(n-1)} \right] \\ &+ \sum_{j=1}^{n-2} \sum_{i=2}^{m} \left[deg_{I_{V}(CC_{2m}^{n-1})}u_{i}^{(j)} + deg_{I_{V}(CC_{2m}^{n-1})}u_{m+1}^{(n-1)} \right] \\ &+ \sum_{j=1}^{n-2} \sum_{i=2}^{m} \left[deg_{I_{V}(CC_{2m}^{n-1})}u_{m+i}^{(j)} + deg_{I_{V}(CC_{2m}^{n-1})}u_{m+1}^{(n-1)} \right] \\ &= 8nm - 8m - 8n + 4 \,. \end{split}$$

$$\begin{split} D^+_{I_V(CC_{2m}^{n-1},u_{m+1}^{n-1})}(2,4) \\ &= \sum_{j=2}^{n-1} \left[deg_{I_V(CC_{2m}^{n-1})} u_1^{(j)} + deg_{I_V(CC_{2m}^{n-1})} u_{m+1}^{(n-1)} \right] \\ &= 6n - 12 \,. \end{split}$$

There fore

$$Z_{1}^{c}(I_{V}(RC_{2m}^{n})) = Z_{1}^{c}(I_{V}(RC_{2m}^{n-1})) + 16nm^{2} - 24nm - 8m^{2}$$

+12m + 8n + 24mn - 24m - 18n + 8n
-16 - 8nm + 8n + 8m - 4 - 6n + 12.
$$Z_{1}^{c}(I_{V}(RC_{2m}^{n})) = Z_{1}^{c}(I_{V}(RC_{2m}^{n-1})) + 8nm(2m - 1)$$

-4(2m² + m + 2).

$$2. Z_{2}^{*}(I_{V}(CC_{2m}^{n})) = Z_{2}^{*}(I_{V}(CC_{2m}^{n-1})) + D_{I_{V}(CC_{2m}^{n})}^{*}(2,2) + D_{I_{V}(CC_{2m}^{n})}^{*}(2,4) + D_{I_{V}(CC_{2m}^{n})}^{*}(4,4) - D_{I_{V}(CC_{2m}^{n-1},u_{m+1}^{n-1})}^{*}(2,2) - D_{I_{V}(CC_{2m}^{n-1},u_{m+1}^{n-1})}^{*}(2,4).$$

Since, $D_{l_V(CC_{2m}^n)}^+(2,2) = D_{l_V(CC_{2m}^n)}^{\times}(2,2)$ = $16nm^2 - 24nm - 8m^2 + 12m + 8n$. $D_{l_V(CC_{2m}^n)}^{\times}(2,4) = 32nm - 32m - 24n$.

$$D_{I_V(CC_{2m}^n)}^{\times}(4,4) = 16n - 32.$$

$$D_{I_V(CC_{2m}^{n-1},u_{m+1}^{n-1})}^{\times}(2,2) = 8mn - 8m - 8n + 4.$$

$$D_{I_V(CC_{2m}^{n-1},u_{m+1}^{n-1})}^{\times}(2,4) = 8n - 16.$$

Then

$$Z_{2}^{\circ}(I_{V}(CC_{2m}^{n})) = Z_{2}^{\circ}(I_{V}(CC_{2m}^{n-1})) + 16nm^{2}$$
$$-4(2m^{2} + 3m + 5).$$

Corollary 2.1.2: For all $n, m \ge 2$, then:

1. $Z_1^c(I_V(CC_{2m}^n)) = 4(2n^2m^2 - n^2m - 2nm - 2n + 2).$ **2.** $Z_2^c(I_V(CC_{2m}^n)) = 4(2n^2m^2 - 3nm - 5n + 5).$ **Proof:**

From Theorem (2.1.1) and using recurrence relations, we get:

$$\begin{aligned} \mathbf{1}. Z_{1}^{\circ} \big(I_{V}(CC_{2m}^{n}) \big) &= Z_{1}^{\circ} \big(I_{V}(CC_{2m}^{n-1}) \big) + 8nm(2m-1) \\ &-4(2m^{2}+m+2) \\ &= Z_{1}^{\circ} \big(I_{V}(CC_{2m}^{n-2}) \big) + 8m(n-1)(2m-1) \\ &+8nm(2m-1) \\ &-8(2m^{2}+m+2) \end{aligned}$$

$$= Z_1^{\circ} (I_V(CC_{2m}^{n-3})) + 8m(n-2)(2m-1) +8m(n-1)(2m-1) +8nm(2m-1) -12(2m^2+m+2) :$$

$$= Z_1^{\circ} \left(I_V \left(C C_{2m}^{n-(n-1)} \right) \right) + \sum_{i=0}^{n-2} 8m(n-i)(2m-1) \\ -4(n-1)(2m^2+m+2)$$

Since $Z_1^{\circ} \left(I_V (C C_{2m}^1) \right) = 8m^2 - 12m$, then
 $Z_1^{\circ} \left(I_V (C C_{2m}^n) \right) = 4(2n^2m^2 - n^2m - 2nm - 2n + 2).$

$$2.Z_{2}^{c}(I_{V}(CC_{2m}^{n})) = Z_{2}^{c}(I_{V}(CC_{2m}^{n-1})) + 16nm^{2} -4(2m^{2} + 3m + 5)$$

$$= Z_{2}^{c}(I_{V}(CC_{2m}^{n-2})) + 16m^{2}(n - 1) + 16nm^{2} -8(2m^{2} + 3m + 5)$$

$$= Z_{2}^{c}(I_{V}(CC_{2m}^{n-3})) + 16m^{2}(n - 2) +16m^{2}(n - 1) + 16nm^{2} -12(2m^{2} + 3m + 5)$$

$$\vdots$$

$$= Z_{2}^{c}\left(I_{V}(CC_{2m}^{n-(n-1)})\right) + \sum_{i=0}^{n-2} 16m^{2}(n - i) -4(n - 1)(2m^{2} + 3m + 5)$$
Since $Z_{2}^{c}(I_{V}(CC_{2m}^{1})) = 8m^{2} - 12m$ then

Since $Z_2^{\circ}(I_V(CC_{2m}^1)) = 8m^2 - 12m$, then $Z_2^{\circ}(I_V(CC_{2m}^n)) = 4(2n^2m^2 - 3nm - 5n + 5).$

Example 2.1.3: The first Zagreb and the second Zagreb of $I_V(CC_6^n)$ for all $n \in N$ are:

1.
$$Z_1^{\circ}(I_V(CC_6^n)) = 60n^2 - 32n + 8.$$

2.
$$Z_2^{c}(I_V(CC_6^n)) = 72n^2 - 56n + 20.$$



FIGURE 1.3. The graph $I_v(CC_6)$

Theorem 2.2.1: For all $n, m \ge 2, r \ge 3$, then:

$$1. \ Z_{1}^{c}(I_{P}(CC_{2m}^{n})) = Z_{1}^{c}(I_{P}(CC_{2m}^{n-1})) +4n(4m^{2} + 4mr + r^{2} - 6m - 3r + 2) -2(4m^{2} - 6m - 6r + 3r^{2} + 8mr + 6).$$
$$2. \ Z_{2}^{c}(I_{P}(CC_{2m}^{n})) = Z_{2}^{c}(I_{P}(CC_{2m}^{n-1})) +4n(4m^{2} + 4mr + r^{2} - 4m - 2r + 1) -2(4m^{2} - 2m - 3r + 3r^{2} + 8mr + 7.5).$$

Proof:

We add an even cycle C_{2m} to the chain $I_P(CC_{2m}^{n-1})$ by identical the vertex u_1^n in C_{2m}^n and the vertex u_{m+1}^{n-1} in $I_P(CC_{2m}^{n-1})$ with both ends of the path P_r , v_r^{n-1} and v_1^{n-1} respectively, we obtain:

$$1. Z_{1}^{c}(I_{P}(CC_{2m}^{n})) = Z_{1}^{c}(I_{P}(CC_{2m}^{n-1})) + D_{I_{P}(CC_{2m}^{n})}^{+}(2,2) + D_{I_{P}(CC_{2m}^{n})}^{+}(2,3) + D_{I_{P}(CC_{2m}^{n})}^{+}(3,3) - D_{I_{P}(CC_{2m}^{n-1},u_{m+1}^{n-1})}^{+}(2,2) - D_{I_{P}(CC_{2m}^{n-1},u_{m+1}^{n-1})}^{+}(2,3).$$

$$\begin{split} & \mathcal{D}_{I_{P}(CC_{2m}^{n})}^{n}(2,2) \\ &= \sum_{i=2}^{2m-2} \sum_{j=i+2}^{jm} \left[deg_{I_{P}(CC_{2m}^{n})} u_{i}^{(n)} + deg_{I_{P}(CC_{2m}^{n})} u_{j}^{(n)} \right] \\ &+ \sum_{i=2}^{2m} \sum_{j=1}^{n-1} \sum_{h=2}^{m} \left[deg_{I_{P}(CC_{2m}^{n})} u_{i}^{(n)} + deg_{I_{P}(CC_{2m}^{n})} u_{h}^{(j)} \right] \\ &+ \sum_{i=2}^{2m} \sum_{j=1}^{n-1} \sum_{h=m+2}^{2m} \left[deg_{I_{P}(CC_{2m}^{n})} u_{i}^{(n)} + deg_{I_{P}(CC_{2m}^{n})} u_{h}^{(j)} \right] \\ &+ \sum_{i=2}^{2m} \left[deg_{I_{P}(CC_{2m}^{n})} u_{i}^{(n)} + deg_{I_{P}(CC_{2m}^{n})} u_{h}^{(1)} \right] \\ &+ \sum_{i=2}^{2m} \sum_{j=1}^{n-2} \sum_{h=2}^{r-1} \left[deg_{I_{P}(CC_{2m}^{n})} u_{i}^{(n)} + deg_{I_{P}(CC_{2m}^{n})} v_{h}^{(j)} \right] \\ &+ \sum_{i=2}^{2m} \sum_{j=1}^{n-2} \sum_{h=2}^{r-1} \left[deg_{I_{P}(CC_{2m}^{n})} u_{i}^{(n)} + deg_{I_{P}(CC_{2m}^{n})} v_{h}^{(n-1)} \right] \\ &+ \sum_{i=2}^{2m} \sum_{j=1}^{n-2} \sum_{h=2}^{r-1} \left[deg_{I_{P}(CC_{2m}^{n})} v_{h}^{(n-1)} + deg_{I_{P}(CC_{2m}^{n})} v_{h}^{(n-1)} \right] \\ &+ \sum_{i=2}^{r-3} \sum_{j=1}^{r-1} \sum_{h=2}^{r-1} \left[deg_{I_{P}(CC_{2m}^{n})} u_{i}^{(j)} + deg_{I_{P}(CC_{2m}^{n})} v_{h}^{(j)} \right] \\ &+ \sum_{i=2}^{m} \sum_{j=1}^{n-1} \sum_{h=2}^{r-1} \left[deg_{I_{P}(CC_{2m}^{n})} u_{i}^{(j)} + deg_{I_{P}(CC_{2m}^{n})} v_{h}^{(n-1)} \right] \\ &+ \sum_{i=2}^{m} \sum_{j=1}^{n-1} \sum_{h=2}^{r-1} \left[deg_{I_{P}(CC_{2m}^{n})} u_{i}^{(j)} + deg_{I_{P}(CC_{2m}^{n})} v_{h}^{(n-1)} \right] \\ &+ \sum_{h=2}^{m} \left[deg_{I_{P}(CC_{2m}^{n})} v_{h}^{(n-1)} + deg_{I_{P}(CC_{2m}^{n})} v_{h}^{(n-1)} \right] \\ &+ \sum_{h=2}^{m} \left[deg_{I_{P}(CC_{2m}^{n})} v_{h}^{(n-1)} + deg_{I_{P}(CC_{2m}^{n})} v_{h}^{(n-1)} \right] \\ &+ \sum_{h=2}^{m} \left[deg_{I_{P}(CC_{2m}^{n})} v_{h}^{(n-1)} + deg_{I_{P}(CC_{2m}^{n})} v_{h}^{(n-1)} \right] \\ &= 16nm^{2} + 16mnr + 4r^{2}n - 56nm + 48n - 8m^{2} + 44m \\ &- 6r^{2} + 34r - 28rn - 16mr - 40 . \end{split}$$

$$\begin{split} & \mathcal{D}_{I_{P}(CC_{2m}^{n})}^{+}(2,3) \\ &= \sum_{l=3}^{2m-1} \sum_{j=2}^{n} \left[deg_{I_{P}(CC_{2m}^{n})} u_{l}^{(n)} + deg_{I_{P}(CC_{2m}^{n})} u_{1}^{(j)} \right] \\ &+ \sum_{j=2}^{n-1} \left[deg_{I_{P}(CC_{2m}^{n})} u_{2m}^{(n)} + deg_{I_{P}(CC_{2m}^{n})} u_{1}^{(j)} \right] \\ &+ \sum_{j=2}^{n-1} \left[deg_{I_{P}(CC_{2m}^{n})} u_{2m}^{(n)} + deg_{I_{P}(CC_{2m}^{n})} u_{1}^{(j)} \right] \\ &+ \sum_{j=2}^{n-1} \sum_{j=1}^{m-1} \left[deg_{I_{P}(CC_{2m}^{n})} u_{l}^{(n)} + deg_{I_{P}(CC_{2m}^{n})} u_{m+1}^{(n)} \right] \\ &+ \sum_{j=1}^{n-1} \sum_{i=2}^{m} \left[deg_{I_{P}(CC_{2m}^{n})} u_{l}^{(j)} + deg_{I_{P}(CC_{2m}^{n})} u_{1}^{(n)} \right] \\ &+ \sum_{j=1}^{n-1} \sum_{i=2}^{m} \left[deg_{I_{P}(CC_{2m}^{n})} u_{m+i}^{(j)} + deg_{I_{P}(CC_{2m}^{n})} u_{1}^{(n)} \right] \\ &+ \sum_{j=1}^{n-1} \sum_{i=2}^{m} \left[deg_{I_{P}(CC_{2m}^{n})} u_{m+i}^{(j)} + deg_{I_{P}(CC_{2m}^{n})} u_{1}^{(n)} \right] \\ &+ \left[deg_{I_{P}(CC_{2m}^{n})} u_{1}^{(1)} + deg_{I_{P}(CC_{2m}^{n})} u_{1}^{(n)} \right] \\ &+ \sum_{j=1}^{n-2} \sum_{l=2}^{n-1} \left[deg_{I_{P}(CC_{2m}^{n})} v_{h}^{(n-1)} + deg_{I_{P}(CC_{2m}^{n})} u_{1}^{(j)} \right] \\ &+ \sum_{h=2}^{n-2} \sum_{j=1}^{n-1} \left[deg_{I_{P}(CC_{2m}^{n})} v_{h}^{(n-1)} + deg_{I_{P}(CC_{2m}^{n})} u_{m+1}^{(j)} \right] \\ &+ \sum_{h=2}^{n-2} \sum_{j=1}^{n-1} \left[deg_{I_{P}(CC_{2m}^{n})} u_{h}^{(n-1)} + deg_{I_{P}(CC_{2m}^{n})} u_{m+1}^{(j)} \right] \\ &+ \sum_{i=2}^{n-2} \sum_{j=1}^{n-2} \left[deg_{I_{P}(CC_{2m}^{n})} u_{m+1}^{(n-1)} + deg_{I_{P}(CC_{2m}^{n})} u_{m+1}^{(j)} \right] \\ &+ \sum_{i=2}^{m-2} \sum_{j=1}^{n-2} \left[deg_{I_{P}(CC_{2m}^{n})} u_{m+1}^{(n-1)} + deg_{I_{P}(CC_{2m}^{n})} u_{m+1}^{(j)} \right] \\ &+ \sum_{i=2}^{m} \sum_{j=1}^{n-2} \left[deg_{I_{P}(CC_{2m}^{n})} u_{m+1}^{(n-1)} + deg_{I_{P}(CC_{2m}^{n})} u_{m+1}^{(j)} \right] \\ &+ \sum_{i=2}^{m-2} \sum_{j=1}^{n-2} \left[deg_{I_{P}(CC_{2m}^{n})} u_{m+1}^{(n-1)} + deg_{I_{P}(CC_{2m}^{n})} u_{m+1}^{(j)} \right] \\ &+ \sum_{i=2}^{m-2} \sum_{j=1}^{n-2} \left[deg_{I_{P}(CC_{2m}^{n})} u_{m+1}^{(n-1)} + deg_{I_{P}(CC_{2m}^{n})} u_{m+1}^{(j)} \right] \\ &+ \sum_{i=2}^{m-2} \sum_{j=1}^{n-2} \left[deg_{I_{P}(CC_{2m}^{n})} u_{m+1}^{(n-1)} + deg_{I_{P}(CC_{2m}^{n})} u_{m+1}^{(j)} \right] \\ &+ \sum_{i=2}^{m-2} \sum_{j=1}^{n-2} \left[deg_{I_{P}(CC_{2m}^{n})}$$

$$\begin{split} & D_{I_P(CC_{2m}^n)}^+(3,3) \\ &= \sum_{j=2}^{n-1} [deg_{I_P(CC_{2m}^n)} u_1^{(n)} + deg_{I_P(CC_{2m}^n)} u_1^{(j)}] \\ &+ \sum_{j=1}^{n-1} [deg_{I_P(CC_{2m}^n)} u_1^{(n)} + deg_{I_P(CC_{2m}^n)} u_{m+1}^{(j)}] \\ &+ \sum_{j=2}^{n-1} [deg_{I_P(CC_{2m}^n)} u_{m+1}^{(n-1)} + deg_{I_P(CC_{2m}^n)} u_1^{(j)}] \\ &+ \sum_{j=1}^{n-2} [deg_{I_P(CC_{2m}^n)} u_{m+1}^{(n-1)} + deg_{I_P(CC_{2m}^n)} u_{m+1}^{(j)}] \\ &= 24n - 42 \end{split}$$

$$\begin{split} &D_{I_P(CC_{2m}^{n-1},u_{m+1}^{n-1})}^{+}(2,2) \\ &= \left[deg_{I_P(CC_{2m}^{n-1})}u_1^{(1)} + deg_{I_P(CC_{2m}^{n-1})}u_{m+1}^{(n-1)} \right] \\ &+ \sum_{j=1}^{n-2} \sum_{i=2}^{r-1} \left[deg_{I_P(CC_{2m}^{n-1})}v_h^{(j)} + deg_{I_P(CC_{2m}^{n-1})}u_{m+1}^{(n-1)} \right] \\ &+ \sum_{i=2}^{m-1} \left[deg_{I_P(CC_{2m}^{n-1})}u_i^{(n-1)} + deg_{I_P(CC_{2m}^{n-1})}u_{m+1}^{(n-1)} \right] \\ &+ \sum_{i=3}^{m} \left[deg_{I_P(CC_{2m}^{n-1})}u_{m+i}^{(n-1)} + deg_{I_P(CC_{2m}^{n-1})}u_{m+1}^{(n-1)} \right] \\ &+ \sum_{j=1}^{n-2} \sum_{i=2}^{m} \left[deg_{I_P(CC_{2m}^{n-1})}u_i^{(j)} + deg_{I_P(CC_{2m}^{n-1})}u_{m+1}^{(n-1)} \right] \\ &+ \sum_{j=1}^{n-2} \sum_{i=2}^{m} \left[deg_{I_P(CC_{2m}^{n-1})}u_{m+i}^{(j)} + deg_{I_P(CC_{2m}^{n-1})}u_{m+1}^{(n-1)} \right] \\ &+ \sum_{j=1}^{n-2} \sum_{i=2}^{m} \left[deg_{I_P(CC_{2m}^{n-1})}u_{m+i}^{(j)} + deg_{I_P(CC_{2m}^{n-1})}u_{m+1}^{(n-1)} \right] \\ &= 4rn - 8r - 16n + 8nm - 8m + 20 \,. \end{split}$$

$$\begin{split} &D^+_{I_P(CC_{2m}^{n-1},u_{m+1}^{n-1})}(2,3) \\ &= \sum_{j=2}^{n-1} \left[deg_{I_P(CC_{2m}^{n-1})} u_1^{(j)} + deg_{I_P(CC_{2m}^{n-1})} u_{m+1}^{(n-1)} \right] \\ &+ \sum_{j=1}^{n-2} \left[deg_{I_P(CC_{2m}^{n-1})} u_{m+1}^{(j)} + deg_{I_P(CC_{2m}^{n-1})} u_{m+1}^{(n-1)} \right] \\ &= 10n - 20 \,. \end{split}$$

There fore,

$$\begin{split} &Z_1^{\circ}\big(I_P(RC_{2m}^n)\big) = Z_1^{\circ}\big(I_P(RC_{2m}^{n-1})\big) + 16nm^2 + 16mnr + 4r^2n \\ &-56nm + 48n - 8m^2 + 44m - 6r^2 + 34r - 28rn - 16mr \\ &-40 + 40mn - 40m - 70n + 20nr - 30r + 70 + 24n - 42 \\ &-4rn + 8r + 16n - 8nm + 8m - 20 - 10n + 20 \,. \\ &= Z_1^{\circ}\big(I_P(CC_{2m}^{n-1})\big) + 4n(4m^2 + 4mr + r^2 - 6m - 3r + 2) \\ &-2(4m^2 - 6m - 6r + 3r^2 + 8mr + 6). \end{split}$$

$$2. Z_{2}^{c}(I_{P}(CC_{2m}^{n})) = Z_{2}^{c}(I_{P}(CC_{2m}^{n-1})) + D_{I_{P}(CC_{2m}^{n})}^{\times}(2,2) + D_{I_{P}(CC_{2m}^{n})}^{\times}(2,3) + D_{I_{P}(CC_{2m}^{n})}^{\times}(3,3) - D_{I_{P}(CC_{2m}^{n-1},u_{m+1}^{n-1})}^{\times}(2,2) - D_{I_{P}(CC_{2m}^{n-1},u_{m+1}^{n-1})}^{\times}(2,3).$$

Since,
$$D_{I_P(CC_{2m}^n)}^+(2,2) = D_{I_P(CC_{2m}^n)}^{\times}(2,2)$$

= $16nm^2 + 16mnr + 4r^2n - 56nm + 48n - 8m^2 + 44m$
 $-6r^2 + 34r - 28rn - 16mr - 40$.
 $D_{I_P(CC_{2m}^n)}^{\times}(2,3) = 48nm - 48m + 24nr - 84n - 36r + 84$.
 $D_{I_P(CC_{2m}^n)}^{\times}(3,3) = 36n - 63$.
 $D_{I_P(CC_{2m}^{n-1},u_{m+1}^{n-1})}^{\times}(2,2) = 4rn - 8r - 16n + 8nm - 8m + 20$.
 $D_{I_P(CC_{2m}^{n-1},u_{m+1}^{n-1})}^{\times}(2,3) = 12n - 24$.

Then,
$$Z_2^{\circ}(I_P(CC_{2m}^n)) = Z_2^{\circ}(I_P(CC_{2m}^{n-1}))$$

+4n(4m² + 4mr + r² - 4m - 2r + 1)
-2(4m² - 2m - 3r + 3r² + 8mr + 7.5).

Corollary 2.2.2 : For all $n, m \ge 2$ and $r \ge 3$, then: **1.** $Z_1^c(I_P(CC_{2m}^n)) = 8n^2m^2 + 8mn^2r + 2n^2r^2 - 12mn^2$ $-6rn^2 + 4n^2 - 8mnr - 4r^2n + 6rn - 8n$ $-32m^2 - 16mr + 200m + 46r - 284.$

2.
$$Z_2^{\circ}(I_P(CC_{2m}^n)) = 8n^2m^2 + 8mn^2r + 2n^2r^2 - 8mn^2$$

 $-4rn^2 + 2n^2 - 8mnr - 4r^2n - 4nm + 2rn$
 $-13n - 32m^2 - 16mr + 200m + 48r - 277.$

Proof:

From Theorem (2.2.1) and using recurrence relations, we get:

1.
$$Z_1^c(l_P(CC_{2m}^n)) = Z_1^c(l_P(CC_{2m}^{n-1}))$$

+4n(4m² + 4mr + r² - 6m - 3r + 2)
-2(4m² - 6m - 6r + 3r² + 8mr + 6).

 $= Z_1^{\circ} (I_P (CC_{2m}^{n-2}))$ $+4(n-1)(4m^2 + 4mr + r^2 - 6m - 3r + 2)$ $+4n(4m^2 + 4mr + r^2 - 6m - 3r + 2)$ $-4(4m^2 - 6m - 6r + 3r^2 + 8mr + 6).$

$$= Z_{1}^{c} (I_{P}(CC_{2m}^{n-3})) +4(n-2)(4m^{2} + 4mr + r^{2} - 6m - 3r + 2) +4(n-1)(4m^{2} + 4mr + r^{2} - 6m - 3r + 2) +4n(4m^{2} + 4mr + r^{2} - 6m - 3r + 2) -6(4m^{2} - 6m - 6r + 3r^{2} + 8mr + 6) : = Z_{1}^{c} (I_{P}(CC_{2m}^{n-(n-2)})) + \sum_{i=0}^{n-3} 4(n-i)(4m^{2} + 4mr + r^{2} - 6m - 3r + 2) -2(n-2)(4m^{2} - 6m - 6r + 3r^{2} + 8mr + 6) Since, Z_{1}^{c} (I_{P}(CC_{2m}^{2})) = 152m - 34r - 284 \text{ then} Z_{1}^{c} (I_{P}(CC_{2m}^{n})) = 8n^{2}m^{2} + 8mn^{2}r + 2n^{2}r^{2} - 12mn^{2} -6rn^{2} + 4n^{2} - 8mnr - 4r^{2}n + 6rn - 8n$$

$$-32m^2 - 16mr + 200m + 46r - 284.$$

2.
$$Z_2^{\circ}(I_P(CC_{2m}^n)) = Z_2^{\circ}(I_P(CC_{2m}^{n-1})) + 4n(4m^2 + 4mr + r^2 - 4m - 2r + 1)$$

2

$$\begin{aligned} &-2(4m^2 - 2m - 3r + 3r^2 + 8mr + 7.5) \\ &= Z_2^c (I_P(CC_{2m}^{n-2})) \\ &+4(n-1)(4m^2 + 4mr + r^2 - 4m - 2r + 1) \\ &+4n(4m^2 + 4mr + r^2 - 4m - 2r + 1) \\ &-2(4m^2 - 2m - 3r + 3r^2 + 8mr + 7.5) \end{aligned}$$

$$\begin{aligned} &= Z_2^c (I_P(CC_{2m}^{n-3})) \\ &+4(n-2)(4m^2 + 4mr + r^2 - 4m - 2r + 1) \\ &+4(n-1)(4m^2 + 4mr + r^2 - 4m - 2r + 1) \\ &+4n(4m^2 + 4mr + r^2 - 4m - 2r + 1) \\ &-2(4m^2 - 2m - 3r + 3r^2 + 8mr + 7.5) \end{aligned}$$

$$\begin{aligned} &= Z_2^c \left(I_P(CC_{2m}^{n-(n-2)}) \right) \\ &+ \sum_{i=0}^{n-3} 4(n-i)(4m^2 + 4mr + r^2 - 4m - 2r + 1) \\ &-2(n-2)(4m^2 - 2m - 3r + 3r^2 + 8mr + 7.5) \end{aligned}$$
Since, $Z_2^c (I_P(CC_{2m}^2)) = 160m + 36r - 295$ then
$$\begin{aligned} Z_2^c (I_P(CC_{2m}^{n-(n-2)})) \\ &= 8n^2m^2 + 8mn^2r + 2n^2r^2 - 8mn^2 - 4rn^2 \end{aligned}$$

$$Z_{2}^{c}(I_{P}(CC_{2m}^{n})) = 8n^{2}m^{2} + 8mn^{2}r + 2n^{2}r^{2} - 8mn^{2} - 4rn^{2}$$
$$+2n^{2} - 8mnr - 4r^{2}n - 4nm + 2rn - 13n - 32m^{2}$$
$$-16mr + 200m + 48r - 277.$$

Example 2.2.3: The first Zagreb and second Zagreb of $(I_P(CC_6^n))$ for all $n \in N$, where *P* is a path between any two cycles C_6 are:

1.
$$Z_1^c(I_P(CC_6^n)) = 112n^2 - 98n + 22.$$

2. $Z_2^c(I_P(CC_6^n)) = 128n^2 - 127n + 35.$



Conclusion

We note from the results that we obtained in the previous, it is also possible to obtain the same results when the cycles are odd, but with the condition that two identical vertices of any cycle are not adjacent. Also can be generalized to cycles that are not of the same length.

Acknowledgement

I am presenting my deep thanks and gratitude to ministry of higher education and scientific research and university of Mosul and I thank collage of computer science and mathematics.

References

- [1] F. Buckley and F. Harary, Distance in Graphs (Addison-Wesley, Redwood, California), 1990.
- [2] G. Chartrand and L. Lesniak, Graphs and Digraphs. Wadsworth and Brooks/Cole, Pacific Grove, CA, USA, 6th edition, 2016.
- [3] I. Gutman, N. Trinajstić, Graph theory and molecular orbitals. Total π electron energy of alternant hydrocarbons, Chem. Phys. Lett. 17 (1972): 535–538.
- [4] T. Dŏslíc, Vertex-weighted Wiener polynomials for composite graphs, Ars Math. Contemp. 1 (2008) 66–80.
- [5] I. Gutman, E. Milovanovic'and I. Milovanovic', Beyond the Zagreb indices. AKCE International Journal of Graphs and Combinatorics, 19 (2018): 1-12.
- [6] J. Cao, U. Ali, M. Javaid and C. Huang, Zagreb Connection Indices of Molecular Graphs Based on Operations. Complexity 2020, (2020):1-15.
- [7] K. C. Das, K. Xu and , J. Nam, Zagreb indices of graphs. Frontiers of Mathematics in China , 10, (2015):567–582.
- [8] K. Xu, The Zagreb indices of graphs with a given clique number. Applied Mathematics Letters 24 (2011): 1026–1030.
- [9] P. Sarkar, A. Pal and N. De. The (a; b)-Zagreb index of line graphs of subdivision graphs of some molecular structures. International Journal of Mathematics for Industry, 12,1, (2020):1-9.
- [10] S. Delen, M. Demirci, A. S. Cevik, and I. N. Cangul, On Omega Index and Average Degree of Graphs, Journal of Mathematics, Vol. 2021, (2021): 1-5.
- [11] X. Zuo, J. Liu, H. Iqbal, K. Ali and S. T. Raza, Topological Indices of Certain Transformed Chemical Structures, Journal of Chemistry Vol. 2020, (2020):1-7.
- [12] A. M. Ali, Some results on Wiener indices for a connected graph G. Italian Journal of Pure and Applied Mathematics, 46(2021): 391–399.
- [13] A. M. Ali., H. O. Abdullah and G. A. Mohammed Saleh., Hosoya polynomials and Wiener indices of carbon nanotubes using mathematica programming. Journal of Discrete Mathematical Sciences and Cryptography, 2021: 1-13

دليلي زغرب لحساب الرؤوس الغير متجاورة لسلاسل من الدارات الزوجية

احمد محجد على

عمار رائد وعدالله

كلية علوم الحاسوب والرياضيات جامعة الموصل

ahmedgraph@uomosul.edu.iq ammar.20csp94@student.uomosul.edu.iq

تاريخ الاستلام:22/9/2022 تاريخ القبول:7/11/2022

الملخص

البيان المستخدمة في هذا البحث هو بيان البسيط المنتهي . يعتمد دليلي زغرب الأول والثاني لكل رؤوس الغير متجاورة (تسمى أيضًا متمم زغرب الأول والثاني) فقط على درجات الرؤوس الغير متجاورة التي تتخللها عمليات الجمع والضرب على التوالي . يُطلق على عدد الحافات الواقعة على الرأس v في البيان G بدرجة الرأس v، في هذا البحث، وجدنا متمم دليلي زغرب الاول والثاني لسلاسل ذات الدارات الزوجية وأيضًا قدمنا بإعطاء بعض الأمثلة.

وجدت مسم سيتي رحرب روري و مي وأيضًا قدمنا بإعطاء بعض الأمثلة. الكلمات المفتاحية: دليل زغرب الاول المتمم، دليل زغرب الثاني المتمم، التطابق ، الدارة الزوجية.